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________________________________________________________

Instructions

1. The exam has 25 questions and 5 pages (including this one). 

Examination time is 45 minutes.

2. No aids (such as calculators, reference sheets, etc.) are permitted. 

3. Turn off cell phones and put your cell phones off the desk.

4. Answer each question in the space provided. If you need more space, write on the backs of pages.

5. Write legibly. Unreadable answers do not count. Do not use red ink.

6. Generally, no questions regarding the interpretation, intention, etc. of an exam question will be answered by invigilators. If in doubt, state your interpretation as part of your answer.

MARK: __________________ / 25   =====>    ________________ / 50

Some of the following questions are multiple choice; in those cases, circle the letter of the single most appropriate answer.  Some of the questions are true/false; in those cases, circle either True or False.  No marks will be deducted for incorrect guesses for multiple choice or true/false questions.

1. A program "source file" is a

   a. text file         b. binary file

2. If you have sequential access to a file and read 100 bytes from that file, then the "current file pointer"

    a. automatically advances by 100

    b. must be advanced by 100 in a separate operation

    c. is not relevant for this operation

3. Files with "direct access" do not have a "current file pointer".

    True        False

4. File protection settings under Unix are

    a. read, print and/or copy

    b. change, delete and/or transfer

    c. read, write and/or execute

    d. edit, run and/or copy

    e. access sequentially or access directly

5. File permissions on a Unix system are divided into 3 categories:

    a. owner, creator, team   b. directory, file, network    c. owner, group, world

    d. creator, group, supervisor       e. local, remote, network

6. The pathname "/usr/include/bin/pgm" is

    a. a relative pathname        b. an absolute pathname

The next 5 questions refer to working with excel spreadsheets.

7. Although you can enter the formula "=NOW()" into a cell and have the result displayed as a number, behind the scenes, the value is really stored as a date object.

    True        False

8. Which of the following formulas would randomly choose among the numbers 5, 6 and 7?

   a. = RAND() * 5 + 3           b. = INT(RAND() * 5) + 3

   c. = RAND() * 3 + 5           d. = INT(RAND()) * 3 + 5

   e. = INT(RAND() * 3) + 5

9. Say you have a range named "radius", holding the radii of some circles, and you have a paralell range named "area" meant to hold the areas of the circles.  Which of the following formulas would you copy into thearea range?

    a. = radius * pi              b. = radius ** 2 * pi

    c. = pi() X  radius^radius    d. = pi() * radius^2

    e. = PI X radius^2

10. Referring to the previous question (#9), what formula would you write to

    determine the number of circles that have a radius of 5?

    a. = number(radius == 5)

    b. = count(radius, "= 5")

    c. = countif(radius, = 5)

    d. = countif(radius, 5)

    e. = sumif(radius, 5)

11. Referring to the circles question (#9), what formula would you write to

    give you the average area of the circles.

    a. = average(area)     b. = avg(area)  c. = total(area) / number(area)

    d. = sum(area) / number(area)     e. = count(area) / sum(area)

The text talks of 4 generations of computer hardware:

    1st generation: 1951 - 1959

    2nd generation: 1959 - 1965

    3rd generation: 1965 - 1971

    4th generation: 1971 - present

12. In which generation were integrated circuits introduced?

    a. 1st          b. 2nd         c.  3rd          d.  4th

13. Which generation introduced magnetic disks?

   a. 1st          b. 2nd         c.  3rd          d.  4th

14. An unsigned integer n is stored in binary as 1 0 1 0 1 0 0 0. What is n expressed in decimal (base 10) notation?

    ANSWER: ________168_______________________________________

15. A signed integer n is stored in 8 bits using 2's complement notation as

      0 0 0 1 1 0 0 1.  What is n expressed in decimal notation?

    ANSWER: ________25 or +25_______________________________________

16. A signed integer n is stored in 4 bits using 2's complement notation as 1 1 0 1.  What is n expressed in decimal notation?

    ANSWER: _________-3______________________________________

17. An unsigned real number x is written in binary as 1 0 1 1 . 1 0 1

    What is x expressed in decimal notation (e.g., expressed like 22 2/9  or 3/8)?

    ANSWER: ________11 5/8  or  11.625_______________________________________

18. A signed real number x is stored in 12 bits, using 4 bits for the exponent,

      as 1 0 1 1 0 1 1 0 0 0 0 0

    What is x in base 10 (i.e., written like 22 2/9 or – 3/8, for example)? 

    ANSWER: _____-3/16  or  -.1875__________________________________________

19. How would the decimal number 555 be expressed in ternary (base 3) notation?

    ANSWER: ________202120_______________________________________

20. How would the bit pattern 1 0 1 0 1 1 1 1 1 1 0 0 be expressed using hexadecimal notation?

    ANSWER: _________AFC______________________________________

21. If a string of bits is encoded in hexadecimal as AF5, how would it be encoded in octal (base 8)?

    ANSWER: _______5365________________________________________

22. If the ascii code for 'f' is 66 in hexadecimal, what is the ascii code for 'k' (also in hexadecimal)?

    ANSWER: _________6B______________________________________

23.  How many different symbols could be encoded using unicode? 

    a. 8    b. 28     c. 16     d. 216     e. 816

24.  Huffman encoding is lossless.

    True        False

25. What minimum sampling rate (times/second) would create reasonable sound reproduction? 

    a. 1,000                b. 10,000        c. 4,000

    d. 40,000               e. 100,000

                                                                      END OF THE TEST


